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I(n=9) 1N(n=44) M(n=35) N(n=23) V(n=4)  VI(n=3)

~15 1.51~225 2.26~2.75 2.76~3.25 3.26~3.75 3.76~

BFE 248 + 146 256 =+ 143 252 + 1.37 252 + 1.67 250 &= 1.24 231 + 140
RAE 263 + 138 319 =+ 145 306 =+ 1.32 295 =+ 1.33 291 * 1.16 3.36 =+ 1.10
PRt 292 +149 322 =+ 139 321 +139 317 £ 080 262 * 1.30 273 =& 1.12
A 235 £ 134 264 = 148 253 =+ 139 264 & 133 234 + 118 248 + 1.43
O 239 + 135 287 =+ 134 282 =+ 128 277 + 1.16 2.66 % 1.03 297 =+ 1.13
BEFR 242 + 131 275 =+ 159 277 =+ 133 263 =+ 1.18 226 =+ 101 244 =+ 1.15
FIREE 248 + 087 266 =+ 065 299 =+ 069 277 += 056 245 =+ 1.21 273 =+ 094
¥y 252 £ 139 248 £ 132 282 + 147 283 + 157 276 £ 1.35 251 £ 1.18
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BE 282 + 128 228 + 144 254 + 158 247 + 140 267 + 1.41
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BEEHR 264 + 096 261 =+ 136 275 + 1.34 265 x 152 274 + 132
FRE 288 =+ 100 280 =+ 3.26 279 + 127 274 = 131 2.80 + 1.31
S 299 =+ 122 265 + 180 280 == 140 275 * 140 285 =+ 1.41
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